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Please check whether you have got the right question paper.
N.B: 1. Answer to all questions are compulsory.
2. Figures to the right indicate full marks.

Answer any two of the following:

Define communication. Discuss the barriers to communication.
Define leadership. Discuss the role of a leader.
Explain the concept of transactional leaders.

Answer any two of the following:

Explain the term co-ordination. “Co- ordination is the essence of management”. Discuss.
What is motivation? Explain the need and importance of motivation.

Explain the McGregor’s Theory X and Theory Y.

Answer any two of the following:

What is meant by the term controlling? Discuss the steps in controlling.
Distinguish between strategic control and operational control.
Discuss the need for managing information in an organization.

Answer any two of the following :

What are the various challenges in organizational growth and development?

What is meant by organizational change? What are the ways to manage organizational
change?

What is meant by conflict? Explain the advantages and disadvantages of conflicts.

Rewrite the answer by choosing the appropriate options given below:

is an important tool for leadership

a) Change b) Communication
c) Conflict d) Job enrichment
refers to the same space between people.
a) Proxemics b) Status barriers
c¢) Emotions d) Filtering
(iii) leadership is also known as managerial leadership.
a) Transactional b) Autocratic
c) Bureaucratic d) Laissez-faire

(iv)

(v)

The concept of transformational leadership was initially introduced by
a) Maslow b) Henry Fayol
c) James McGregor Burns d) F.W. Taylor

results in more productive use of time and ability to accomplish much more

in the same amount of time.
a)Resistance to change b) Organizational change
c) Management of change d) Time management
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(B) State whether the following statements are true or false :

(i) Prolonged conflict can result in reduction of stress to the employees.

(ii) The organization using ERP (Enterprise Resource Planning) has to bear high cost.
(iii) The transitional leaders adopt Laissez-faire style of leadership.
(iv) Diversity among employees is an asset because it brings to the organization a range of

skills.

(v) Organization development helps to improve problem solving skills of the employees.

(€)

Match the following :

Group A Group B
(i) Noise (a) | Suitable for organization
operating in a stable
environment
(i) Sociocratic (b) | Martin G. Evans

(iii)

Path Goal Model of leadership

(c)

Fear of unknown

(iv)

Strategic Momentum Control

(d)

Environmental barriers

Psychological resistance.

(e)

Runs the organization like a social
club

(f)

Flexi time approach

(g)

Procrastination
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Please check whether you have got the right question paper.
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